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0.JIZ2ANREZHE 66,000 202! 1,320
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OA2a=E 48,0003 122 576
O= gl 210,000& »20¢! 4,200
=324 2,160 2,058 102
OZ2832= € HAl 2,040
0.28R2= 102,000& = 209! 2,040
OAl& &EHI =X dI 120
0. 427 &= & =2 120
202 O 12,000 12,000 0
=W 12,000 12,000 0
OZ2Hl(283Hl)
200,000& * 5&% » 123 12,000
BESH(AY - SAIIY /A 46,180 41,340 4,840
= 600
= 45,580
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M XNAAM SE3(AY - SAINY/M4Y - SAD| 8t

Sl X122 KIS A 5 (5l &2
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SA-EFH - SA(SAH) - MREAY - BES Aol Ofl At ot Hws2
201 L2yl 12,450 11,500 950
01 AtR2elt] 12,450 11,500 950
O+ gl 10,000
0.UiD% 4= 10024 %100,0000H 10,000
SEET 2,450
0.NAZH Pe= 7,0002! %701 +502 2,450
202 Ofl 14,280 12,240 2,040
01 =Loit] 14,280 12,240 2,040
OJl= 2430t 70,0008 * 791 * 122 14,280
203 AREXy| 2,000 2,000 0
CIEEEEE 2,000 2,000 0
OXl = 2R & & st 2,000,00094 2,000
01 YsrBAZ 4,850 5,100 A250
10 BAAHIZ A3 4,600 4,600 0
OFTA 2R1S & 20,0002 302! 600
022X &0t8 .
20,0002 * 1509 3,000
OJlgeas =8 2
10,0008 #2591 #43| 1,000
12 JlErE A 250 500 A250
OS2 AlY 50,0002 59! 250
308 XXIEHSOIH 10,000 10,000 0
08 JIEtEE3 10,000 10,000 0
OFZFAANS DTS D DIE A HE AL
10,000, 0002 10,000
SR PGSER 2,600 500 2,100
= 600
2 2,000
TOBHLZASN 2,600 500 2,100
= 600
2 2,000
402 QIR+ OIF 2,600 500 2,100
= 600
2 2,000
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01 QIZtEEX 2,600 500 2,100
OZIZHL =2 (10A) 2,600,00024 2,600
[ 600
2 2,000
OEX oA 2 23 N (ALY - SAII/NUXI LA 135,890 93,790 42,100
JHe)
Ol XI22l & SIters 13,690 37,540 A23,850
Xl & Sot=e| 13,690 16,540 A2,850
201 LBt A 3,490 6,040 22,550
01 ArR 22|l 3,240 5,790 A2,550
OLit2H| 1,640
0.2 ZEHAME A2
2,000 x50l A *5 g x23] 1,000
0.0I4Xl & Sor2tel Has ol
200 *2Z «1,0000H 400
0.Xt8 QUM AEIH M=
2002 x63 *2000H 240
o244 1,600
0.2t KAF| EAxG
50,0002 1601 23] 1,600
02 ZZ=29H| 250 250 0
OZ2Ze= 2 HA 250
O.0IUXI &S Ot 2 UERE
2502 «1,0000H 250
203 YRF=ZH 2,000 2,000 0
03 AIMEXARFZAY| 2,000 2,000 0
O X & 2Jr2] Az 2,000,000 2,000
301 LB A= 8,200 8,200 0
10 AIAHIEAZ 1,000 1,000 0
O X B 2 2JorE 24[H QI & A
20,0002 *50Q1 %13 1,000
12 JlElB A2 7,200 7,200 0
OSII2LIHRY AdE4
300,000 %201 x 122 7,200
OFE IOl (4Kl S22 122,200 56,250 65,950
A & FMIIAIE A 45,200 56,250 211,050
401 AlSHI Y204 45,200 56,250 211,050




A BHEAlD
A HUR 2tE L I HE (& - SAINS /XL RHRINY)

ol IF Nl (4K 3 2el (649 &2
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01 A&l 45,200 56,250 A11,050
ORODIZMELZT HAALINA
68,0002 1500+ 25,200
ORLDIZMELZ I HIIAILINM
100,000 %2007} 72 20,000
HI|ME (34) N2 4 ALY 77,000 0 77,000
401 ANEZHL20 77,000 0 77,000
01 AZH] 77,000 0 77,000
OFIIMZ (3A)MEHAS (3H2H/5012)
5,5008 * 14,000m 77,000
WA S| (AQ - ZAII/MATE - DE5Y) 1,196,790 1,724,300 A527,510
2 700,000
2 496,790
WehAlE 2el2g 1,196,790 1,724,300 A527,510
2 700,000
2 496,790
WeHAIR KX 29,790 24,300 5,490
101 oIl 3,090 0 3,090
10 JRAM2EZNER S 3,090 0 3,090
OMHAIR CR™acts ol
30,9008 * 100 3,090
201 Y2yl 6,900 6,900 0
02 ===l 6,900 6,900 0
02222 2 Al 4,800
0. AFSFAFIINER
40,0002 ¥107H A *122 4,800
OAE RIS b 2,100
0. HHAIBRK 4 2000002 794 2 1,400
0. AIZEEAST 10,0002 *7H A 700
01 YpRAS 19,800 17,400 2,400
12 JIEIEAZ 19,800 17,400 2,400
OIS Z 22l Al 24 19,800
0.SHIAIR 450,000 & * 12 2 5,400
0. 8%, A, A&
400,000 2 * 3MA * 12 14,400
TWeHAI R & a5 1,167,000 0 1,167,000
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s 700,000
2 467,000
01 A&l 1,162,798 0 1,162,798
OHSANEB=INEELAS 1,162,798,000& 1,162,798
= 695,798
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03 AIZ=C0HHI 4,202 0 4,202
OHLEANE =XEZ LAY JIEFRUYI
1,167,000,0002 = 0.36/100 4,202
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301 utEAa=z 3,000 0 3,000
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10,000& * 100¢! 1,000
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308 AtXISH X SO0I& 200,000 200,000 0
05 XXtXREZ 200,000 200,000 0
OEXNEAXF dFI1 CHEE 22
40,000,000& * 5JH S 200,000
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By XA (ZELT AN /WAL EA)
CHol: AR T2 IHA (Eh9): & 2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
A2UE2IE 1,800,000 1,000,000 800,000
MEHSOIE 2LE2IHE MY 200,000 200,000 0
401 A&HIL RO 200,000 200,000 0
01 Al&HI 198,560 198,560 0
OESUISAYT2 FINAAR (50 )
198,560, 000& 198,560
03 Al&Z=0Hdl 1,440 1,440 0
OEB0IE AYT2MA JIERUH)
200,000,000 * 0.72/100 1,440
AEAYE R (X21FR0S)MHE 200,000 0 200,000
401 A &HIZ =20 200,000 0 200,000
01 Al&HI 198,560 0 198,560
OMET21T0IE A2 2NA(118n)
198,560, 000& 198,560
03 AIZ=C0HHI 1,440 0 1,440
OMET21T0IS 2L E2H&EIIEHR Y]
200,000,000& * 0.72/100 1,440
MEASEZNE 500,000 0 500,000
401 AIEHI S0 500,000 0 500,000
01 AlI&HI 496,400 0 496,400
OTZLYSH Al ZNZEACZEZA
o 198,560, 0002 198,560
OSEll2 MYRME (595 H-012)
297,840,0002! 297,840
03 A& =01 3,600 0 3,600
OAST2NLAL JIE2OH
500,000,000& * 0.72/100 3,600
MOHRATI OIS A Y 2IH & 200,000 0 200,000
401 A&HIL RO 200,000 0 200,000
01 Al&HI 198,560 0 198,560
ORNASTZHLAS (AXDIEY)
198,560, 000& 198,560
03 A& =0 1,440 0 1,440
ORNAYTZHEAY JIEHL O]
200,000,000 * 0.72/100 1,440
MM 2LE20H4 300,000 500,000 A200,000
401 A& HIZL=2OY| 300,000 500,000 A200,000
01 AI&HI 297,840 496,850 A 199,010
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OMEUMASCZ2IAIEIR2 Y]
300,000,000 * 0.72/100 2,160
22K HN2E A ALY 300,000 0 300,000
207 S RIf L 300,000 0 300,000
01 ¢IR=EAH 300,000 0 300,000
OZeUXNANESH SHIEXNANMULEHE
A ZEWME EEXH) 300,000,0002! 300,000
CAHE XA HE S 100,000 0 100,000
207 I RIf 100,000 0 100,000
01 ¢IREAH 100,000 0 100,000
OZAIHERANLE LSRR A(TAIZ
2HINE MRS 100,000,000 100,000
XA AR 23,410 15,010 8,400
ANAHAR2A 23,410 15,010 8,400
201 LEHRYH] 4,350 5,350 A1,000
01 AFR2t2|H] 4,350 5,350 1,000
OYr2H| 1,200
0.228X 0IXSI| =42
8,00084 150! 1,200
Oo2d94¢ 1,750
0.2 HERRS A&
50,0002 %501 73] 1,750
o= 7,000% 401 x50 1,400
202 OfH] 8,160 8,160 0
01 =2UH0iH 8,160 8,160 0
OJl=248 0| 170,000 x401 128 8,160
301 LprE A= 900 1,500 AB00
10 AIAHIEAZ 900 1,500 AB00
Oz=2elHe B3 &4
10,0002 *3091 *33] 900
308 XXESHHSOIA 10,000 0 10,000
08 JlEtRE=2 10,000 0 10,000
OZAHE D DS AMEAY (24 X)
10,000,000 10,000
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SAAHEEAEEYI AL 300,000 0 300,000
401 AIEHIL=2OY| 300,000 0 300,000
01 A&l 298,200 0 298,200
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50,000, 000& 50,000
OAldB A YR 2T W MAEZ2 L
248,200,000 248,200
03 AIZ=C0HHI 1,800 0 1,800
O AN LRI 20|
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Zns2ae 71,000 20,000 51,000
2222 71,000 20,000 51,000
401 Al&HIZ 204 71,000 20,000 51,000
01 Al&HI 71,000 20,000 51,000
OX&EZne AX (10HA)
7,000,000& * 3= 21,000
OXIFEAAC EXI (15H24)
10,000,000& * 542 50,000
SANL(ZELTN ML /RSL A 2,846,460 3,504,329 A657,869
L= 610,000
= 2,236,460
XEotsst TAIDIBEES 2,600,006 3,467,000 A 866,994
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= 2,100,006
MAHCAIHECZIHE (3-295) 500,000 0 500,000
& 500,000
401 Al&HIZ =20 500,000 0 500,000
& 500,000
01 Al&HI 496,400 0 496,400
OUEESEAHEEZ L 496,400,000 496,400
= 496,400
03 AlZ=0Hd] 3,600 0 3,600
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500,000,000 * 0.72/100 3,600
& 3,600
SANXNHAESE FHI 100,000 70,000 30,000
|




SN BHEAID
B AN (IELK

Bl XSotset TADIeEE

e

EYNE-===YND

A
(=]

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
401 ASHILLHH 100,000 70,000 30,000
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SANEE 2 1,900,006 0 1,900,006
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01 Al&H] 1,886,740 0 1,886,740
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) 496,400,0002! 496,400
OMEETANETZ SHIFHHY|
178,380,000 178,380
OUBETANET2 Tolsa =
814,840,00024 814,840
ONE TAHEE2HE(3-3254-~22)
397,120,00024 397,120
03 A&yl 13,266 0 13,266
OUEE TAHHCTRIIAL JIEHLUY
500,000,00020 * 0.72/100 3,600
OUBEETAINECTR SHIFH LY
180,000,0002 * 0.90/100 1,620
OUEE TAHHCR SelsETw 20
H 820,000,0002! * 0.63/100 5, 166
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400,000,000%! * 0.72/100 2,880
SAHEA LR B2 100,000 0 100,000
401 ASHILLHY 100,000 0 100,000
01 Al 100,000 0 100,000
ONSEXNE U AME (23)24
500,000% * 407H A 20,000
OESXE T (ME AIE B BN, L0
) 50,000,000 50,000
OANIX T2RNLL(5HS)
30,000,000 30,000
SADIBEY =X 246,454 37,329 209,125
= 110,000
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AN YREZ 36,454 37,329 AB75
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_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES O AFH 'oﬂ/'\_WH Hons2
101 o2l 4,944 4,709 235
10 JIAH2RUSE S 4,944 4,709 235
OTAIHEDAUAIIIK Rl Q2
30,9002 *4J A *40L 4,944
201 gty 24,590 25,100 A510
01 At=atelt| 5,750 6,900 1,150
OYpt4gH| 4,000
0.SAHEAIE S22
10,000 *400Z 4,000
OEET] 7,0002 *301 x50 1,050
ogza 700
0.SAHEER ASFY LRt
350,000 x2 700
02 ==Yl 18,840 18,200 640
O2Zz=22 ¢ HA 18,840
0.8t OIS 2 ®IIZ 300,0002 * 128 3,600
0.8tIS 28 +&2 700,00024* 122 8,400
0.B224 ®IIE 160,0002! * 128 1,920
0.4HE ZMZAFI|R 250,00024* 122 3,000
0.2XID+2X &2 160,0002 * 12 1,920
202 Ol 6,120 6,120 0
01 =Uoit 6,120 6,120 0
0224301 H| 170,000 ¥301 + 128 6,120
301 UPP A 800 1,400 600
10 BAABIZAZ 800 1,400 A600
OTAHEALE =L &
200, 0002 *43] 800
HaAX T NESRUSS 100,000 0 100,000
401 A&HIL2HY] 100,000 0 100,000
01 Al&H| 100,000 0 100,000
OLSXE TM(ME 2N S X2 AS
) 50,000,0002! 50,000
OFAXT HEZ2 SNL4(5HD)
50,000,000 50,000
TR 240l AL 110,000 0 110,000
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SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
ME 242 AL = 110,000
401 AIEHIZ 2O 110,000 0 110,000
& 110,000
01 Al&HI 110,000 0 110,000
OAHIRI = (&E Mz M)
50,000,000& 50,000
& 50,000
OO ExFHEZ2F Y| 60,000, 000& 60,000
= 60,000
FAHE L =HEZMA (MSX/FE) 714,145 2,989,998 A2,275,853
& 125,000
= 589, 145
SHE F=AHSZ A 714,145 2,989,998 A2,275,853
& 125,000
= 589, 145
HIHQ A=AHH MUIANS 164,145 230,998 A66,853
101 ol | 1,175 1,178 A8
10 JIZtHZ2Z2NSES 1,175 1,178 A3
OXollitE & ®=Al2el Y
30,900 x501%3 » 23| 927
OXEDtE Edl2e|g=2d
30,900& *201x2 23| 248
201 Let3| 6,850 8,700 A 1,850
01 At 2eldl 5,050 6,900 21,850
Oget=EHl 2,300
0.4=g22d 29| 100,000& *12& 1,200
0.A=YR JIIEEE MEMEH
100,000& x5 500
0.AF4) Lt (g8, UXUXE)
150,000& «4& 600
Or=1=1:] 7,000 32150 1,050
o244 1,700
0.0=Rs &4 50,0003 1021 23] 1,000
0. 2|9 BB B A At
50, 000& *721 %23 700
02 232934l 1,800 1,800 0
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SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2
Os32= ¥ AHA 1,800
0.XHell & AIEQIES MIIR2
150,000 = 12& 1,800
202 O4H| 6,120 6,120 0
01 =2WAbI 6,120 6,120 0
OJI2gR2 80| 170,000& #3021« 12& 6,120
402 PIZX=0H 150,000 215,000 65,000
01 QIZX=2BEX 150,000 215,000 65,000
OsEFEHIMNAMY ZAXNS KA
3,000,000& * 50= 150,000
SI& AH|AFS 70,000 70,000 0
= 35,000
o 35,000
402 QIZ2EXE0| A 70,000 70,000 0
== 35,000
iy 35,000
01 QI2X=2BEX 70,000 70,000 0
OBIEAHIAIE 700,000 & = 100 = 70,000
< 35,000
= 35,000
B AXR S K3 A 180,000 189,000 29,000
= 90,000
iy 90,000
402 QIZ2EXE0| ™ 180,000 189,000 A9,000
== 90,000
iy 90,000
01 QI2tX=2E X 180,000 189,000 29,000
O&d =X ZAKNSKEH
3,000,000 & * 60 = 180,000
o= 90,000
= 90,000
HAFTHAILHLOIIESR X 300,000 2,500,000 A2,200,000
401 AAEBIZ20HYI 300,000 2,500,000 A2,200,000
01 Al&H] 297,840 2,477,430 N2,179,590
OF Az J|PHAIL AL (6744 )
297,840,000 297,840
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By FIOE U FHYNH(AE =X /FE)

=R sOHE F=HZHA

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K loﬂ/i\_Fo” Hos
03 AlZ=0Hd] 2,160 22,570 220,410
OXJAFEI|BLAIEAIE 20HYI
300,000,000& = 0.72/100 2,160
HRSS(FHTAD) (ALY - BAIL/MY - BAIIHY 8,220,000 659,500 7,560,500
Bt)
LHEAH K & 8,220,000 659,500 7,560,500
ZAIYSYIIB WE 600,000 500,000 100,000
701 JIEEIHEE2 600,000 500,000 100,000
01 JIEISIHEEZ 600,000 500,000 100,000
OZAJYSHIISTE 300,000,000 300,000
Os2JIY SE13 0INEES
300,000,000 300,000
STHNZTHANYHES 1,860,000 159,500 1,700,500
701 JIEEIHAES 1,860,000 159,500 1,700,500
01 JIEISIHEEZ 1,860,000 159,500 1,700,500
Os3HANETEELEHNES
1,760,000,000& 1,760,000
OSANM2X AsSHIAEZL ML (ZHIREZ
) 100,000,000 100,000
TYMNLAY SEHIIHNNE 5,760,000 0 5,760,000
701 JIEtSIHEE= 5,760,000 0 5,760,000
01 JIEtBIHENES 5,760,000 0 5,760,000
OSGMNLAS EG3H 8=
5,760,000, 000 5,760,000
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